AEQIY|A AR QIEUA

=5 4Y/HIE o[0ix|

Fof Qx| = tsS Wy
o /( X ;
RAL7021 RAL 2004 RAL 1021 RAL 3020
dz 54 Edjm g7 st 2|4
X X7 P
@ 9§ ¢
RAL 6032 RAL 5017 RAL 7035

© HEINRICH KIPP WERK GmbH & Co. KG

SN, EIQ D, A3 HH Y U, UE 9IS

ks

HE M _
oleia Erixis wEtaioz ols) & 9Ix|7} Hat

o QIRIE HEEY  AA Euch HZ MH F2 HS
of 2xlo] &3 Elo| Meh /IXIZ Sot2 dEHE RKISH S FLICh

THE!:

1.4308. &= Ht

1.4305. Lw &g 3 EF E
1.4310. 45 Az 2

PA o-;wmg SE=N-

#EM O]

XMoo 2 OtFE|E LA &2l 2 & F
2 =l odot & XtedX ot 2.
XMoo= Ot FE|E ¢S AZ 3.
ChFst Mzto| &2 ot Z:
- 22 3|A RAL 7021
- TE M RAL 2004
- B2 M RAL 1021
- A3 5 WZAH RAL 3020
- A2 =4 RAL 6032
$ S UtEHAH RAL 5017
t &|AM RAL 7035

Ml

=

o ol

(0}
ol 0|

1

r
r

A

B3 HHE 180° S2/H &3 Elo| Me
ZotAaE He H3 ot S

FLIALR E2.

Jdo
A
Hu
Ml
o

o
r
o

AL

AHAE HH.
HMAMzE:

=iflold #& K0638.
EZXMNY '='é3' K1290, K1839, K1840.

L1

(o

Sw

&3

e

D2

B1

www.kipp.com - info@kipp.com 1/4



()
bl
AH|OIA AE!OIHA Z/X], EIRQ] D, &= HE Y S, LHE QUS
Z= 0

FEHS Et THE MA D D1 D2 L L1 L3 B B1 H SW Fx30° A[Z EbA
ErSd =2

F1 2N F2 <N
K1673.1070410 D Z3|M RAL 7021 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.10704101 D 3| M RAL 7021 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.1070510 D 3| M RAL 7021 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.10705101 D 43|M RAL 7021 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.1070610 D 43| M RAL 7021 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.10706101 D 43|M RAL 7021 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.1070512 D 3| M RAL 7021 5 M12 12 48,4 31,1 25 129 5,7 8 19 1,3 8 15
K1673.10705121 D 3| M RAL 7021 5 M12x1,5 12 48,4 31,1 25 12,9 57 8 19 1,3 8 15
K1673.1070612 D 43| M RAL 7021 6 M12 12 48,4 31,1 25 129 5,7 8 19 1,8 8 15
K1673.10706121 D 43|M RAL 7021 6 M12x1,5 12 48,4 31,1 25 129 5,7 8 19 1,8 8 15
K1673.1070812 D 3| M RAL 7021 8 M12 12 48,4 31,1 25 12,9 57 8 19 2,3 8 15
K1673.10708121 D 4d3|M RAL 7021 8 M12x1,5 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1673.1070616 D 3| M RAL 7021 6 M16 16 62,3 415 32 166 7 10 24 1,8 15 35
K1673.10706161 D 3| M RAL 7021 6 M16x1,5 16 62,3 41,5 32 166 7 10 24 1,8 15 35
K1673.1070816 D 43|M RAL 7021 8 M16 16 62,3 41,5 32 166 7 10 24 2,3 15 35
K1673.10708161 D 3| M RAL 7021 8 M16x1,5 16 62,3 41,5 32 16,6 7 10 24 2,3 15 35
K1673.1071016 D 3| M RAL 7021 10 M16 16 62,3 41,5 32 16,6 7 10 24 2,8 15 35
K1673.10710161 D 43|M RAL 7021 10 M16x1,5 16 62,3 415 32 16,6 7 10 24 2,8 15 35
K1673.1070820 D 3| M RAL 7021 8 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1673.10708201 D 43| RAL 7021 8 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1673.1071020 D 4d3|M RAL 7021 10 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1673.10710201 D 3| M RAL 7021 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1673.1071220 D 43| RAL 7021 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.10712201 D 4d3|M RAL 7021 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.10704102 D F0{ 2EIX| RAL 2004 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.107041012 D F0{ BIX| RAL 2004 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.10705102 D 04 2FIX| RAL 2004 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.107051012 D F0{ 2EIX| RAL 2004 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.10706102 D Fo{ EIX| RAL 2004 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.107061012 D 04 2FIX| RAL 2004 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.10705122 D Fo0{ 23IX| RAL 2004 5 M12 12 48,4 31,1 25 129 5,7 8 19 1,3 8 15
K1673.107051212 D Fo{ BIX| RAL 2004 5 M12x1,5 12 48,4 31,1 25 129 57 8 19 1,3 8 15
K1673.10706122 D 04 2FIX| RAL 2004 6 M12 12 48,4 31,1 25 129 57 8 19 1,8 8 15
K1673.107061212 D Fo{ 23IX| RAL 2004 6 M12x1,5 12 48,4 31,1 25 129 5,7 8 19 1,8 8 15
K1673.10708122 D F0{ 2BIX| RAL 2004 8 M12 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1673.107081212 D 04 2FIX| RAL 2004 8 M12x1,5 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1673.10706162 D Fo0{ 2BX| RAL 2004 6 M16 16 62,3 41,5 32 16,6 7 10 24 1,8 15 35
K1673.107061612 D F0{ 2BIX| RAL 2004 6 M16x1,5 16 62,3 415 32 166 7 10 24 1,8 15 35
K1673.10708162 D F04 2FIX| RAL 2004 8 M16 16 62,3 415 32 166 7 10 24 2,3 15 35
K1673.107081612 D Fo{ 2EIX| RAL 2004 8 M16x1,5 16 62,3 41,5 32 166 7 10 24 2,3 15 35
K1673.10710162 D F0{ 2BIX| RAL 2004 10 M16 16 62,3 41,5 32 166 7 10 24 2,8 15 35
K1673.107101612 D F#04 2FIX| RAL 2004 10 M16x1,5 16 62,3 415 32 16,6 7 10 24 2,8 15 35
K1673.10708202 D Fo0{ 2EIX| RAL 2004 8 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1673.107082012 D 04 2FIX| RAL 2004 8 M20x1,5 20 72,3 51,3 35 20,5 8,512 30 2,3 20 60
K1673.10710202 D F04 2FIX| RAL 2004 10 M20 20 72,3 51,3 35 20,5 8,512 30 2,8 20 60
K1673.107102012 D 01 EEﬂXI RAL 2004 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1673.10712202 D 04 2FIX| RAL 2004 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.107122012 D Foi ._|X| RAL 2004 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.107041016 D gr2 =3 RAL 1021 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.1070410116 D g2 & RAL 1021 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.107051016 D g2 =& RAL 1021 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.1070510116 D gre =2 RAL 1021 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.107061016 D g2 & RAL 1021 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.1070610116 D g2 =& RAL 1021 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.107051216 D g2 2 RAL 1021 5 M12 12 48,4 31,1 25 129 5,7 8 19 1,3 8 15
K1673.1070512116 D g2 & RAL 1021 5 M12x1,5 12 48,4 31,1 25 129 57 8 19 1,3 8 15
K1673.107061216 D g2 2 RAL 1021 6 M12 12 48,4 31,1 25 129 5,7 8 19 1,8 8 15
K1673.1070612116 D gre =2 RAL 1021 6 M12x1,5 12 48,4 31,1 25 129 57 8 19 1,8 8 15
K1673.107081216 D g2 & RAL 1021 8 M12 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1673.1070812116 D g2 2 RAL 1021 8 M12x1,5 12 484 31,1 25 129 5,7 8 19 2,3 8 15
K1673.107061616 D gre =2 RAL 1021 6 M16 16 62,3 41,5 32 16,6 7 10 24 1,8 15 35

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

°
bl
AH|QIZ|A AE! OIHIA ZERA, EIR] D, &= HI 2 USF, LHE US
Z= Qo

FOHS EfQJ THE MA D D1 D2 L L1 L3 B B1 H SW Fx30° A[Z EbA

ErSd 5=

F12£. N F22 N

K1673.1070616116 D gh2 =2 RAL 1021 6 M16x1,5 16 62,3 41,5 32 16,6 7 10 24 1,8 15 35
K1673.107081616 D gh2 =2 RAL 1021 8 M16 16 62,3 41532 166 7 10 24 23 15 35
K1673.1070816116 D g2 -2 RAL 1021 8 M16x1,5 16 62,3 41,532 166 7 10 24 23 15 35
K1673.107101616 D g2 =2 RAL 1021 10 M16 16 62,3 41,532 166 7 10 24 2.8 15 35
K1673.1071016116 D gh2 =2 RAL 1021 10 M16x1,5 16 62,3 41,532 166 7 10 24 28 15 35
K1673.107082016 D g2 -2 RAL 1021 8 M20 20 72,3 51,3 35 20,5 8512 30 23 20 60
K1673.1070820116 D g2 2 RAL 1021 8 M20x1,5 20 72,3 51,3 35 20,5 8512 30 2,3 20 60
K1673.107102016 D g2 =3 RAL 1021 10 M20 20 72,3 51,3 35 20,5 8,512 30 2,8 20 60
K1673.1071020116 D g2 -2 RAL 1021 10 M20x1,5 20 72,3 51,3 35 20,5 8,512 30 2,8 20 60
K1673.107122016 D g2 =2 RAL 1021 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.1071220116 D gh2 2 RAL 1021 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.107041084 D AE 5 Wz RAL 3020 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.1070410184 D A& 5wz RAL 3020 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.107051084 D A5 5 Wz RAL 3020 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.1070510184 D A& 5 Wz RAL 3020 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.107061084 D A& S Wz RAL 3020 6 M10 10 39,5 26,3 20 10,9 4,9 6 17 1,8 8 14
K1673.1070610184 D A5 5 Wz RAL 3020 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.107051284 D A& 5 Wz RAL 3020 5 M12 12 484 31,1 25 12,9 57 8 19 1,3 8 15
K1673.1070512184 D A& 5 Wz RAL 3020 5 M12x1,5 12 484 31,1 25 129 57 8 19 1,3 8 15
K1673.107061284 D A5 5 Wz RAL 3020 6 M12 12 484 31,1 25 12,9 57 8 19 1,8 8 15
K1673.1070612184 D AE 5 Wz RAL 3020 6 M12x1,5 12 484 31,1 25 129 57 8 19 1,8 8 15
K1673.107081284 D A& 5 Wz RAL 3020 8 M12 12 484 3112512957 8 19 23 8 15
K1673.1070812184 D A& 5 Wz RAL 3020 8 M12x1,5 12 484 31,1 2512957 8 19 23 8 15
K1673.107061684 D A& S whZ RAL 3020 6 M16 16 62,3 41,5 32 16,6 7 10 24 1,8 15 35
K1673.1070616184 D A& 5 Wz RAL 3020 6 M16x1,5 16 62,3 41,532 16,6 7 10 24 1,8 15 35
K1673.107081684 D A& 5 Wz RAL 3020 8 M16 16 62,3 41532 166 7 10 24 23 15 35
K1673.1070816184 D A& 5wz RAL 3020 8 M16x1,5 16 62,3 41,532 16,6 7 10 24 23 15 35
K1673.107101684 D MES WZFRAL3020 10 M16 16 62,3 41,532 166 7 10 24 28 15 35
K1673.1071016184 D AMES Wz RAL 3020 10 M16x1,5 16 62,3 41,532 16,6 7 10 24 2.8 15 35
K1673.107082084 D A& 5 Wz RAL 3020 8 M20 20 72,3 51,3 35 20,5 8512 30 23 20 60
K1673.1070820184 D A5 5 Wz RAL 3020 8 M20x1,5 20 72,3 51,3 35 20,5 8512 30 23 20 60
K1673.107102084 D pMES WZFRAL 3020 10 M20 20 72,3 51,3 35 20,5 8512 30 238 20 60
K1673.1071020184 D AE5 Wz RAL 3020 10 M20x1,5 20 72,3 51,3 35 20,5 8,512 30 2,8 20 60
K1673.107122084 D pMES WZFRAL 30200 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.1071220184 D AMES Wz RAL3020 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.107041086 D Ala'd =M RAL 6032 4 M10 10 39,5 26,3 20 10,9 4,9 6 17 1 8 14
K1673.1070410186 D Ala'd =M RAL 6032 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.107051086 D Alad =M RAL 6032 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.1070510186 D A" =M RAL 6032 5 M10x1 10 39,5 26,3 20 109 4,9 6 17 1,3 8 14
K1673.107061086 D Al =M RAL 6032 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.1070610186 D Alad =M RAL 6032 6 M10x1 10 39,5 26,3 20 109 4,9 6 17 1,8 8 14
K1673.107051286 D A" =M RAL 6032 5 M12 12 484 31,1 25 12,9 57 8 19 1,3 8 15
K1673.1070512186 D Al 54 RAL 6032 5 M12x1,5 12 484 31,1 25 129 57 8 19 1,3 8 15
K1673.107061286 D Ala'd =M RAL 6032 6 M12 12 484 31,1 25 12,9 57 8 19 1,8 8 15
K1673.1070612186 D Ala'd =M RAL 6032 6 M12x1,5 12 484 31,1 25 129 57 8 19 1,8 8 15
K1673.107081286 D Al =M RAL 6032 8 M12 12 48,4 31,1 25 129 57 8 19 2,3 8 15
K1673.1070812186 D Ala'd =M RAL 6032 8 M12x1,5 12 484 31,1 2512957 8 19 23 8 15
K1673.107061686 D A" =M RAL 6032 6 M16 16 62,3 41,532 166 7 10 24 1,8 15 35
K1673.1070616186 D Ala2d =M RAL 6032 6 M16x1,5 16 62,3 41,532 16,6 7 10 24 1,8 15 35
K1673.107081686 D Alad =M RAL 6032 8 M16 16 62,3 41532 166 7 10 24 23 15 35
K1673.1070816186 D A" =M RAL 6032 8 M16x1,5 16 62,3 41,532 16,6 7 10 24 23 15 35
K1673.107101686 D Alad sMRAL6032 10 M16 16 62,3 41,532 166 7 10 24 28 15 35
K1673.1071016186 D Alad sMRAL6032 10 M16x1,5 16 62,3 41,532 16,6 7 10 24 2,8 15 35
K1673.107082086 D Ala'd =M RAL 6032 8 M20 20 72,3 51,3 35 20,5 8512 30 23 20 60
K1673.1070820186 D Al =M RAL 6032 8 M20x1,5 20 72,3 51,3 35 20,5 8512 30 23 20 60
K1673.107102086 D Alad sMRAL6032 10 M20 20 72,3 51,3 35 20,5 8512 30 28 20 60
K1673.1071020186 D Alad s RAL6032 10 M20x1,5 20 72,3 51,3 35 20,5 8512 30 2,8 20 60
K1673.107122086 D Alad sMRALG032 12  M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.1071220186 D Al sMRAL6032 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.107041087 D A& S D2 RAL 5017 4 M10 10 39,5 26,3 20 10,9 4,9 6 17 1 8 14
K1673.1070410187 D A% 5 T3 RAL 5017 4 M10x1 10 39,5 26,3 20 10,9 49 6 17 1 8 14

info@kipp.com 3/4



()
bl
2 H|QIE|A AE QI A Z/IX, EfR] D, &= HE Y US, LHE U=
Z= 29
FEHS Eted THE MY D DI D2 L L1 L3 B BT HSW Fx30° A% B
ErSd =)

F12E N F29. N
K1673.107051087 D A3 8 ot RAL 5017 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.1070510187 D AE S o RAL 5017 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.107061087 D Az S o RAL 5017 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.1070610187 D Az &S o RAL 5017 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.107051287 D AMS S 2 RAL 5017 5 M12 12 48,4 31,1 25 129 57 8 19 1,3 8 15
K1673.1070512187 D A3z S o RAL 5017 5 M12x1,5 12 484 31,1 25 129 57 8 19 1,3 8 15
K1673.107061287 D A3 &S o RAL 5017 6 M12 12 484 31,1 25 12,9 57 8 19 1,8 8 15
K1673.1070612187 D AS S5 g RAL 5017 6 M12x1,5 12 48,4 31,1 25 12,9 5,7 8 19 1,8 8 15
K1673.107081287 D Az S o RAL 5017 8 M12 12 484 31,1 2512957 8 19 23 8 15
K1673.1070812187 D Az S o RAL 5017 8 M12x1,5 12 484 31125129 57 8 19 23 8 15
K1673.107061687 D AE S o RAL 5017 6 M16 16 62,3 41,5 32 16,6 7 10 24 1,8 15 35
K1673.1070616187 D A3z S o RAL 5017 6 M16x1,5 16 62,3 41,532 166 7 10 24 1,8 15 35
K1673.107081687 D Az S o RAL 5017 8 M16 16 62,3 41,532 16,6 7 10 24 2,3 15 35
K1673.1070816187 D AE S oE RAL 5017 8 M16x1,5 16 62,3 41,5 32 166 7 10 24 2,3 15 35
K1673.107101687 D MES D@ RAL5017 10 M16 16 62,3 41,532 166 7 10 24 28 15 35
K1673.1071016187 D A3 S o RAL 5017 10 M16x1,5 16 62,3 41,5 32 16,6 7 10 24 2,8 15 35
K1673.107082087 D AE S oE RAL 5017 8 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,3 20 60
K1673.1070820187 D Az S o RAL 5017 8 M20x1,5 20 72,3 51,3 35 20,5 8512 30 23 20 60
K1673.107102087 D A3 8 o RAL 5017 10 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1673.1071020187 D AE S ma RAL 5017 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1673.107122087 D AMES T RALS5017 12 M20 20 72,3 51,3 35 20,5 8,512 30 3 20 60
K1673.1071220187 D A S o RAL 5017 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.107041088 D Q15t 3| RAL 7035 4 M10 10 39,5 26,3 20 10,9 49 6 17 1 8 14
K1673.1070410188 D Q1% 3| RAL 7035 4 M10x1 10 39,5 26,3 20 10,9 4,9 6 17 1 8 14
K1673.107051088 D 018t 3| RAL 7035 5 M10 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.1070510188 D Q4%t 3| M RAL 7035 5 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,3 8 14
K1673.107061088 D Q1% 3| RAL 7035 6 M10 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.1070610188 D 018t 3| RAL 7035 6 M10x1 10 39,5 26,3 20 10,9 49 6 17 1,8 8 14
K1673.107051288 D Q4%t 3| M RAL 7035 5 M12 12 484 31,1 25 12,9 57 8 19 1,3 8 15
K1673.1070512188 D Q1% 3| RAL 7035 5 M12x1,5 12 484 31,1 25 12,9 5,7 8 19 1,3 8 15
K1673.107061288 D 948t 3|A4 RAL 7035 6 M12 12 48,4 31,1 25 12,9 57 8 19 1,8 8 15
K1673.1070612188 D Q4%t 3| M RAL 7035 6 M12x1,5 12 48,4 31,1 25 129 57 8 19 1,8 8 15
K1673.107081288 D Q1% 3| RAL 7035 8 M12 12 484 31,1 2512957 8 19 23 8 15
K1673.1070812188 D 948t 3|A4 RAL 7035 8 M12x1,5 12 48,4 31,1 25 12,9 57 8 19 2,3 8 15
K1673.107061688 D Q4% 3| M RAL 7035 6 M16 16 62,3 41,5 32 16,6 7 10 24 1,8 15 35
K1673.1070616188 D Q1% 3| RAL 7035 6 M16x1,5 16 62,3 41532 166 7 10 24 1,8 15 35
K1673.107081688 D Q1%t 3| RAL 7035 8 M16 16 62,3 41,5 32 16,6 7 10 24 2,3 15 35
K1673.1070816188 D Q4% 3| M RAL 7035 8 M16x1,5 16 62,3 41532 166 7 10 24 23 15 35
K1673.107101688 D Q1% 3| RAL 7035 10 M16 16 62,3 41532 166 7 10 24 28 15 35
K1673.1071016188 D 1%t 3| RAL 7035 10 M16x1,5 16 62,3 41,5 32 16,6 7 10 24 2,8 15 35
K1673.107082088 D Q1%t 3| RAL 7035 8 M20 20 72,3 51,3 35 20,5 8512 30 2,3 20 60
K1673.1070820188 D Q18 3| RAL 7035 8 M20x1,5 20 72,3 51,3 35 20,5 8512 30 23 20 60
K1673.107102088 D 018t 3| RAL 7035 10 M20 20 72,3 51,3 35 20,5 8,5 12 30 2,8 20 60
K1673.1071020188 D Q1%t 2| RAL 7035 10 M20x1,5 20 72,3 51,3 35 20,5 8512 30 28 20 60
K1673.107122088 D Q18 3| RAL 7035 12 M20 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60
K1673.1071220188 D 1%t 3| RAL 7035 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 30 3 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



